PARCA 74 — The Spanish Armada
Ne Ogrenecegim / Ne isime yarayacak

Various grammar points

A. Vocabulary

invade (v): istila etmek /// invasion: istila
navy (n): donanma

defeat (v / n) yenmek, bozguna ugratmak, yenilgi
battle (n): savas

remaining (adj): kalan

sail (v): yelken agmak

lose (v): kaybetmek

fleet (n): filo

return (v): geri donmek

sign (v / n): imzalamak, isaretlemek, isaret
better (adj): daha iyi

celebrate (v): kutlamak /// celebration: kutlama /// celebrity: Gnli

Verilen kelimelerin Tirkge anlamlar dogru olanlarda ‘T’, yanlig olanlarda ‘F’ harfini igsaretleyip, yanlis olanlarin
yanina dogrusunu yaziniz.

1. celebrate: imzalamak (T / F) 5. invade: istila etmek (T / F)
2. lose: kaybetmek (T / F) 6. remaining: daha iyi (T / F)
3. battle: istila (T / F) 7. return: kutlamak (T / F)

4. defeat: denize acgilmak (T / F) 8. fleet: filo (T / F)



The 1588 Spanish Armada was a group of 132 ships. These ships were sent by King Philip Il of Spain to invade England.
Queen Elizabeth I's navy met the Armada in the English Channel. The English ships were faster, had better guns, and
the weather was bad for the Spanish. Because of this, the Spanish Armada was defeated. After the battle, the remaining
Spanish ships had to sail around Scotland, where more ships and men were lost. In the end, only half of the fleet
returned to Spain. The war between England and Spain continued, but the defeat of the 1588 Armada became famous. It
was seen as a sign that Protestant England was better than Catholic Spain and was celebrated in art and stories.

C. Context

1. The 1588 Spanish Armada was a group of 132 ships.

*** 1588 yilinin Ispanyol Donanmasi 132 gemilik bir gruptu

Ana fiil: was: ‘to be’: past: di, di

2. These ships were sent by King Philip Il of Spain to invade England.
** By gemiler ingiltereyi isgal etmek igin ispanya Krali Il. Philip tarafindan génderildi.

isgal etmek: invade /// invasion: isgal
Were sent: gonderildi - V2 pasif

3. Queen Elizabeth I's navy met the Armada in the English Channel.
Kralige Elizabeth I'in donanmasi Ingiliz Kanalinda Donanmayi karsiladi.
Met: ana fiil, karsiladi seklinde gevirdim, V2.

4. The English ships were faster, had better guns, and the weather was bad for the Spanish.

ingiliz gemileri daha hizliydi, daha iyi silahlari vardi ve hava ispanyollar igin kétiyd.

5. Because of this, the Spanish Armada was defeated.

Bundan dolayi, ispanya Donanmasi bozguna ugradi.
This: havanin kétl olmasi

Because of: -den dolayi, -digi igin

Because of the weather conditions: hava kosullarindan dolayi
Because of the disaster: felaketten dolayi

6. After the battle, the remaining Spanish ships had to sail around Scotland, where more ships and men were
lost.

Savastan sonra, kalan ispanyol gemileri daha fazla geminin ve erkegin kaybedildigi Iskogya etrafinda yelken agmak
zorundaydi

where: Scotland

Zorundaydi: had to



7. In the end, only half of the fleet returned to Spain.
Sonunda, filonun sadece yarisi Ispanya’ya déndii.

Return: d6nmek
In the end: sonunda, nihayetinde, finally

8. The war between England and Spain continued, but the defeat of the 1588 Armada became famous.
ingiltere ve ispanya arasindaki savas devam etti ama 1588 yilinin Donanma bozgunu {inlii hale geldi.
Bozgun: defeat

Devam etmek: continue
But: ama anlaminda kendisinden dnceki ciimle ile igindeki ciimle arasinda zitlik olusturmak igin kullaniimistir.

9. It was seen as a sign that Protestant England was better than Catholic Spain and was celebrated in art and
stories.

Protestan ingiltere’nin Katolik ispanya’dan daha iyi olduguna dair bir emare olarak gériindii ve sanatta ve hikayelerde
kutlandi.

It: the defeat of the 1588 Armada became famous.

Emare, isaret: sign /// sign language: isaret dili...
Kutlamak: celebrate
Sanat: art

‘Noun Clause’ olarak kullanilan ‘that’: ‘cegi, cagr’, ‘mesi, masl’, ‘e dair’ anlamlarina gelir.



E. Reading Comprehension

The 1588 Spanish Armada was a group of 132 ships. These ships were sent by King Philip Il of Spain to invade England.
Queen Elizabeth I's navy met the Armada in the English Channel. The English ships were faster, had better guns, and
the weather was bad for the Spanish. Because of this, the Spanish Armada was defeated. After the battle, the remaining
Spanish ships had to sail around Scotland, where more ships and men were lost. In the end, only half of the fleet
returned to Spain. The war between England and Spain continued, but the defeat of the 1588 Armada became famous. It
was seen as a sign that Protestant England was better than Catholic Spain and was celebrated in art and stories.

Which could be the best title of the passage?
A. The Battle of the English Channel: Spain's Attempt to Invade England
B. The Weather's Role in Naval Warfare: The Story of the Spanish Armada

C. The Defeat of the 1588 Spanish A a: Enaland’s Historic Vi

Why was the Spanish Armada defeated?
A. The Spanish ships were faster.

B. The English ships had | Lt ! bad for the S ist
C. The Spanish had more ships.

Gonderim yapan kelimenin anlamini bulalim.
The underlined word ‘this’ in line 3 refers to

What does the term "invade™ mean in the sentence "These ships were sent by King Philip Il of Spain to invade
England"?
A. To defend a country

B. To enter a country forcefully

C. To form an alliance

What is the meaning of "defeated" in the sentence "Because of this, the Spanish Armada was defeated"?
A. Victorious

B. Beaten
C. Neutral

In the sentence "After the battle, the remaining Spanish ships had to sail around Scotland,” what does
"remaining” mean?

A. Damaged

B. Lost

C. Leftover

What does "celebrated" mean in the sentence "It was seen as a sign that Protestant England was better than
Catholic Spain and was celebrated in art and stories"?

A. Ignored - g6z ardi etmek

B. Commemorated

C. Criticized - elestirmek



PARCA 75 — Digital Technologies
Ne Ogrenecegim / Ne isime yarayacak

Various grammar points

A. Vocabulary

government (n): hiikiimet

share (v): paylasmak, hisse /// shareholder: hissedar / my share: benim hissem/benim payim
information (n): bilgi /// inform (v): bilgilendirmek

unlike (prep): -nin aksine

traditional (adj): geleneksel

tool (n): alet

include (v): icermek

communicator (n): iletisimci

need (v): ihtiyag duymak

audience (n): seyirci, izleyici

artificial (adj): yapay

intelligence (n): zeka, istihbarat

assistant (n): yardim

augment (v): artirmak

reality (n): gerceklik

communication (n): iletisim

institution (n): kurum

vulnerable (to) (adj): hassas, savunmasiz /// valuable: degerli
process (v): islemden gegirmek, islem

quickly (adv): hizl bir sekilde

Verilen kelimelerin Tiirkge anlamlan dogru olanlarda ‘T’, yanlis olanlarda ‘F’ harfini isaretleyip, yanlis olanlarin
yanina dogrusunu yaziniz.

1. quickly: yavasca (T / F) 5. unlike (nin aksine): -e gore (according to) (T / F)
2. process: artirmak (T / F) 6. share: ihtiyag duymak (T / F)
3. communication: iletisim (T / F) 7. government: hikkiimet (T / F)

4. include: hari¢ tutmak (T / F) 8. audience: kurum (T / F)



Digital technologies give governments many new ways to share information and talk with people online. Unlike traditional
methods, these new tools include social media, websites, emails, videos, online ads and mobile apps. These tools help
public communicators meet the needs of different audiences. New technologies like artificial intelligence, voice
assistants, and augmented reality can change the old ways of one-way communication. These technologies help public
institutions connect with vulnerable groups, create new spaces for dialogue and process large amounts of data quickly.
C. Context

1. Digital technologies give governments many new ways to share information and talk with people online.

Dijital teknolojiler verirler hiikkimetlere birgok yeni yol paylasmak i¢in bilgiyi ve konusmak igin insanlarla ¢gevrim ici.

Talk with people online: insanlarla gevrimigi konugsmak

2. Unlike traditional methods, these new tools include social media, websites, emails, videos, online ads
(advertisements) and mobile apps (applications).

Geleneksel metotlarin aksine, bu yeni aletler icerir sosyal medyayi, web sitelerini, emailleri, videolari, online reklamlari ve
mobil uygulamalari.

icermek: include
-nin aksine: unlike, in contrast to

3. These tools help public communicators meet the needs of different audiences.
Bu aletler halk iletigicimlerinin farkli seyirci ihtiyaglarini karsilamalarina yardimci olur.

intiyaglar: needs
Seyirciler: audiences
Aletler: tools

Public communicators:

Help + V0 / to VO

4. New technologies like artificial intelligence, voice assistants, and augmented reality can change the old ways
of one-way communication.

*** Yeni teknolojiler, yapay zeka, sesli asistanlar, ve artiriimis gerceklik gibi degistirebilir eski yontemleri tek yonli
iletisimin.

Gibi: like

Yapay zeka: artificial intelligence

Augmented reality: artirilmis gerceklik

iletisim: communication /// communicate: iletisim kurmak

Ana fiil: can change



5. These technologies help public institutions connect with vulnerable groups, create new spaces for dialogue
and process large amounts of data quickly.

Bu teknolojiler yardimci olur kamu kuruluslarinin irtibat kurmasina savunmasiz/hassas gruplarla, yaratmalarina yeni
yerler diyalog igin, ve islemden gecirmelerine bliylik miktarda veriyi hizh bir sekilde.

Hassas, savunmasiz: vulnerable
Kurum: institution

Hizl bir sekilde: quickly
Yaratmak, olusturmak: create

Help + VO / to VO



E. Reading Comprehension

Digital technologies give governments many new ways to share information and talk with people online. Unlike traditional
methods, these new tools include social media, websites, emails, videos, online ads and mobile apps. These tools help
public communicators meet the needs of different audiences. New technologies like artificial intelligence, voice

assistants, and augmented reality can change the old ways of one-way communication. These technologies help

public institutions connect with vulnerable groups, create new spaces for dialogue and process large amounts of data
quickly.

What is the main idea of the passage?

A. Traditional methods of communication are no longer useful for governments. Geleneksel iletisim metotlari hiikimetler
icin artik kullanigh degil.

B. Social media is the best tool for governments to communicate with people. Sosyal medya insanlarla hikimetlerin

iletisim kurmasinda en iyi aragtir.

What are some of the new tools that help public communicators meet the needs of different audiences?

A. Newspapers and flyers

B. Social medi bsi | mobil

C. Radio and television

How do new technologies like artificial intelligence and augmented reality impact communication?

A. They make communication one-way only. Sadece tek yonli iletisim kurmalarini saglar.

C. They limit the ability of public institutions to connect with vulnerable groups.
Onlar sinirlar kabiliyetini kamu kurumlarinin irtibata gegme hassas gruplarla.

Gonderim yapan kelimenin anlamini bulalim.
The underlined word ‘these’ in line 2 refers to




